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ΘΕΜΑ Α 

Α.1.α 

Α.2.γ 

Α.3.β 

Α.4.β 

Α.5. 1-->γ 

2-->β 

3-->ε 

4-->α 

5-->δ 

 

ΘΕΜΑ Β 

Β.1. προπάνιο--> C3H8 

Βουτένιο-->C4H8 

Οκτάνιο-->C8H18 

Εξίνιο-->C6H10 

Εικοσάνιο-->C20H42 

2. αέρια: προπάνιο, βουτένιο, εξίνιο 

Υγρά: οκτάνιο 

Στερεά : εικοσάνιο 

3. αντιδράσεις προσθήκης δεν δίνουν τα αλκάνια. Δηλαδή προπάνιο, οκτάνιο και εικοσάνιο. 

 



Β.2. 

1.Σ 

2.Σ 

3.Λ 

4.Λ 

5.Λ 

6.Λ 

7.Λ 

8.Σ 

9.Λ 

10.Σ 

 

Β.3. C3H6O --> CVH2VO  

ΑΛΔΕΥΔΕΣ 

CH3COCH3 προπανόνη 

ΚΕΤΟΝΕΣ 

CH3CH2CHO 1-προπανάλη 

 

Β.4. C4H6 --> CVH2V-2 

ΑΛΚΙΝΙΑ 

CHΞCCH2CH3 1-βουτίνιο 

CH3CΞCCH3 2-βουτίνιο 

ΑΛΚΑΔΙΕΝΙΑ 

CH2=C=CHCH3 1,2-βουταδιένιο 

CH2=CHCH=CH2 1,3-βουταδιένιο 

 

ΘΕΜΑ Γ  

Γ.1. C2H6 + 7/2O2 --> 2CO2 + 3H2O 

1  2 3 
3  X=6mol Ψ=9mol 

 

n=m/Mr=90/30=3mol C2H6 



n=V/22,4--> V=134,4L CO2 

9mol H2O 

Γ.2. α) CH3CH2CH2CH=CH2 + Br2 --> CH3CH2CH2CΗΒrCH2Br 

β) CH2=CH2 + H2O --> CH3CH2OH 

γ) CHΞCH + H2O -->CH3CHO 

δ) CH2=CH2+ Br2  --> CH2BrCH2Br 

ε) HCΞCH + 2H2 -->CH3CH3 

 

ΘΕΜΑ Δ 

Δ.1. CvH2v + Br2 --> CvH2vBr2 

1  1 
0,2  0,2 

 

n= m/Mr => 0,2=40,4/(14ν+160) => ν=3 άρα: 

Α: CH3CH=CH2 προπένιο 

Β: CH3CHBrCH2Br 2,3-διβρωμο, προπάνιο 

Δ.2. C3H6 + 9/2O2 --> 3CO2 + 3H2O  

1  3 
0,2  0,6 

n=V/22,4 =>V=13,44 L CO2 

Δ.3. CH3CH=CH2 + Η2 --> CH3CH2CH3 

1 1  
0,2 0,2  

n=V/22,4 =>V=4,48 L Η2 

 


